EAGRAROBREERT — 2 N— ABISH —F

2020528170 (B) 20m55#1H

KW >RC31# Y% —f% ‘ (%] W ‘ (ERE] - | 4 (A) 14000 E
[AE£] 1 7&:240,000 W  23%&:56,000”  33%&:24,000M”  43%&:17,000H . 5 7#&:12,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1| 7>7>KZ22R o4 g%x%%ﬂ 1:(3_1).6 1-1-1-1 [40.2| — 1 495 ﬁ;}zz (%48)
Qib—krATLEY BSRPIUFL 02| sy
ol 2V spyvFres 4 E%Eﬁu 1:(342).5 3-3-32 |40.7| — | 5 | 409 %g)ﬂﬁ_(%’;‘;
R:VENTA— B:YITILIK (-3) eI
N . NMECPEEEPE > 4 ggg%w@— 1;(33.3 6-6-5-5 |40.6| — 2 451 ’ziuigiaé%ﬁé)
QN=YI51 BTALARLA 0| @) #aa-KL—varmETe
N > REERI=PEE: i 4 5{%5%5 1(73?::)3 8-8-8-8 [39.7| — 8 392 Zﬁgﬁi (€2
ATz —dIV B:NYSLH © J =Y Tr—L
5l5/5/ V2 /17% 44 é‘%%ﬁﬂl*ﬁ 1:(313).5 4-4-2-3 |41.6| — 3 | 516 Eﬁ%_@fﬂ)
R4 0 B:RA/TFRT> 7 AFEBAS
6 3lEN/A=TFL R H 5 ﬂ'a"f% 1:(313).7 7777 |ma| = | 7 | 477 g}ﬁﬁ%ﬁ (55 H8)
AT ATv— B RV XX— (-5) ESlite
7lglg|FTVYIbyTva— o4 | K= (11314/20> 5656 [41.5| — | 6 | 39 E%(%)IE*}?P(%E%H
R:TFATLH— BRZFTLTUX (-9) idetie ]
sl 7 2z R e R R
RFHVTTIAE BiS A N—3y b | vy Em
® 11—+ —EBIEH
13=7r= 6,7,1,5,8,4,3,2
2ol=7F= 6,7,1,5,8,4,3,2
30—7+— 6,5,1,7,(4,8),3,2
43-%— |6,1,57,4,83.2
[ RN
B OB 6 160M 794K 1-6 3104 B = 1-6 970M JEE 1-4-6 1,110M
1 B 6 120M 4-6 160F B H 6-1 1,290H JEH 6-1-4 4,850
1 210/ 1-4 490M
4 1409

ARICOVWTRDTEEERROODE. TR LI,




